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SECTION -1
GENERAL KNOWLEDGE & CURRENT AFFAIRS

The relationship between °F and °C temperatures
in terms of °C is

a) °F = 9/5°C + 32
b) °C = 5/9(°F-32)
¢) °F = 9/5°C — 32
d) °C = 5/9(°F+32)

PV Sindhu won the ~ medal at Rio Olympic
games.

a) Gold

b) Bronze

¢) Silver

d) None of the above

On the surface of the moon the

a) Mass and weight become lesser

b) Mass remains constant and only weight is lesser
¢) Only mass is lesser

d) Mass and weight both remain unchanged

Which among the following cities of India has been
rated in this year's ranking as the 'cleanest' city?

a) New Delhi
b) Allahabad
¢) Indore

d) Mysore

Bob Dylan has been honoured with Nobel
Prize in the field of

a) Music

b) Literature

c) Peace

d) None of the above

Which denominations of old currency notes were
completely banned in India after demonetization?

a) 1000, 500
b) 2000, 1000
¢) 100, 50

d) 20, 10

Headquarter of International Court of Justice is in

a) Hague

b) Paris

¢) New York
d) Delhi

8.

10.

I1.

12.

13.

14.

Human Rights day is celebrated on

a) 10th December
b) Ist July

¢) 8th November
d) 8th March

Which one of the following types of glass can cut
off the UV rays?

a) Soda Glass

b) Pyrex Glass
¢) Jena Glass

d) Crookes Glass

Recently, BCCI President Mr. Anurag Thakur was
removed from his position by the

a) Supreme Court of India
b) Delhi High Court

¢) Government of India
d) Union Sports Ministry

___has the largest Spanish speaking population.

a) Spain
b) Brazil
¢) Mexico
d) Ecuador

Night blindness is caused by the deficiency of

a) Vitamin A
b) Vitamin B6
¢) Vitamin C
d) Vitamin D

How many Generations of Human Rights are there ?

a) Three
b) Two
¢) Five

d) Six

Who is the first chief of BRICS Bank opened in
Shanghai?

a) N. K. Singh

b) KV Kamath

¢) Arundhati Ghosh

d) H.D. Parekh



15.

16.

17.

18.

19.

20.

21.

22.

Which one of the following is not a measure
of Human Development Index?

a) Life expectancy
b) Sex ratio

c) Literacy rate

d) Standard of living

Plant genes of endangered species are stored in a

a) Gene Library

b) Gene Bank

¢) Herbarium

d) None of the above

India has passed the Right to Education Act in

a) 2010
b) 2012
¢) 2015
d) 2009

Diabetes is caused by the malfunctioning of

a) Liver

b) Pancreas
¢) Kidney
d) Lungs

Which country has won the 2016 Kabaddi World Cup?

a) India

b) Pakistan
c) Malaysia
d) Iran

AFP stands for

a) Agency for French Press
b) Agence France Presse

¢) Agency of Film Production
d) None of the above

The first paragraph of a news story is called

a) Beat
b) Lead
¢) Anchor
d) Slug

'Kaziranga' Wildlife Sanctuary is situated in

a) Uttrakhand
b) Assam

¢) Puducherry
d) West Bengal

23.

24.

25.

26.

28.

29.

30.

Santhanam Committee 1962 is related to-

a) Panchayati Raj

b) Corruption

¢) Woman Empowerment
d) None of the above

The first Indian President of the UN General
Assembly was

a) Vijay Laxmi Pandit
b) Mrs. Indira Gandhi
¢) Sarojini Naidu

d) Sucheta Kriplani

Who is the present Chief Justice of India ?

a) Justice H. L. Dattu

b) Justice T. S.Thakur

¢) Justice J. S. Khehar
d) Justice Altamas Kabir

Quit India Movement was adopted by the INC at

a) Bombay
b) Calcutta
¢) Patna

d) Allahabad

. On which date did the Prime Minister of India

announce demonetization?

a) 08 November, 2016
b) 19 November, 2016
¢) 01 January, 2017

d) 31 March, 2017

What does PAN refer to?

a) Personal Account Number
b) Private Account Number

¢) Permanent Account Number
d) None of the above

'Audacity of Hope' is a book written by

a) Michael Jackson
b) Barack Obama
¢) Marley Munroe
d) Michelle Obama

The call for 'Total Revolution' was given by

a) Ram Manohar Lohia
b) Acharya Narendra Dev
¢) Jayaprakash Narayan
d) Vinoba Bhave



31. Ms. Srishti Kaur of India has been in news 34. In which of the following states Garos and Khasis

recently for communities/tribes live ?
a) First Girl Mountaineer a) Kerala
b) Famous rap singer b) Telengana
¢) Miss Teen Universe ¢) Meghalaya
d) Winner of Big Boss 2016 d) Jharkhand
32. Who among the following was the president of 35. The marine animal called Dugong which is
the Constituent Assembly? vulnerable to extinction is a/an
a) Maulana Azad a) Amphibian
b) B R Ambedkar b) Bony Fish
¢) Rajendra Prasad ¢) Shark
d) Jawaharlal Nehru d) Mammal

33. Who among the following has propagated
the theory of "laissez-faire'?

a) David Ricardo
b) Karl Marx

¢) Adam Smith
d) Samelson



SECTION -II
ENGLISH LANGUAGE AND COMPREHENSION

Question 36-40
Read the passage below and answer the questions that follow :

Economists, ethicists and business experts persuade us that honesty is the best policy, but their evidence is weak. We hoped to find data
that would support their theories and thus, perhaps, encourage higher standards of business behavior. To our surprise, their pet theories
failed to stand up. Treachery, we found, can pay. There is no compelling economic reason to tell the truth or keep one's word.
Punishment for the treacherous in the real world is neither swift nor sure.

Honesty is, in fact, primarily a moral choice. Business people do tell themselves that, in the long run, they will do well by doing good.
But there is little factual or logical basis for this conviction. Without values, without a basic preference of right over wrong, trust based
on such delusion would crumble in the face of temptation. Most of us choose virtue because we want to believe in ourselves and because
others respect and believe us.

And due to this, we should be happy. We can be proud of a system in which people are honest because they want to be, not because they
have to be. Materially, too, trust based on morality provides great advantages. It allows us to join in great and exciting enterprises that we
could never undertake if we relied on economic incentives alone.

Economists tell us that trust is enforced in the market place through retaliation and reputation. If you violate a trust, your victim is apt to
seek revenge and others are likely to stop doing business with you, at least under favourable conditions. A man or woman with a
reputation for fair dealing will prosper. Therefore, profit maximisers are honest. This sounds plausible enough until you look for
concrete examples. Cases that apparently demonstrate the awful consequences of trust turn out to be few and weak, while evidence that

treachery can pay seems compelling.

36. What do economists and ethicists, according 39. Which of the following is 'false' according to the
to the passage, want us to believe? passage?
a) Businessmen should always be honest a) Economists believe that all businessmen are dishonest
b) Businessmen cannot always be honest b) Generally people are honest so as to earn self-respect
c¢) Businessmen turn dishonest at times ¢) Virtuous behaviour earns respect of others
d) Businessmen are honest only at times d) All dishonest men are not caught

37. Which of the following, according to the author, 40. Which of the following best describes what the
is the reason for being honest in business? author is trying to point out through the last

' : V‘?
2) It gives no immediate benefit sentence of the passage, 'Cases that...compelling'

b) It gives no long-term benefit a) The consequences of dishonesty
¢) It makes a person self-seeking b) Theories do not seem to be true
d) It earns the disrespect of others ¢) Economists predict correctly

¢) The contradictions in the real world

38. Which of the following phrase is most nearly
the 'same' in meaning as the word "persuade’ as
it has been used in the passage?

a) Give an assurance
b) Give an option

¢) Try to convince
d) Cheat



Questions 41- 46, fill in the blanks with the most appropriate word:

41. The boy's father his life during the war. 44. There are many methods of legal disputes in
India.
a) Lost
b) Lose a) Having
¢) Got b) Taking
d) Received c) Resolving
d) Fixing
42. Smoking is prohibited  public areas. 45. There seven continents in the world.
a) In a)ls
b) Was b) Are
¢) Permitted c¢) Have
d) Through d) Has
43. The National Anthem was by Nobel Laureate 46. Mahatma Gandhi stated, “An eye for an
Rabindranath Tagore. eye  make the whole world blind.”
a) Given a) Will
b) Received b) Would
¢) Laid c) Has
d) Composed d) Have

Questions 47- 49, choose the option that best conforms to standard English usage:

47. a) Sorry, I am not understanding your point. 49. a) The peacock is one of the most beautiful bird in the world.
b) Sorry, I don't understanding your point. b) The peacock is one of the beautiful bird in the world.
c) Sorry, I am cannot understanding your point. ¢) The peacock is one of the most beautiful birds into the world.
d) Sorry, I cannot be able to understand your point. d) The peacock is one of the most beautiful birds in the world.

48. a) Hardly had I entered the room, than the mobile started ringing.
b) Hardly had I entered the room, when the mobile had started
ringing.
¢) Hardly had I entered the room, when the mobile will have
started ringing.
d) Hardly had I entered the room, when the mobile started
ringing.

Questions 50- 57, in each of the following question out of the given alternatives, choose the one which
best expresses the meaning of the given word:

50. Barbaric 53. Indolent
a) Savage a) Fast
b) Soft b) Swift
¢) Intense ¢) Unresponsive
d) Mild d) Lazy
51 Enigma 54. Detest
a) Magic a) Like
b) Dream b) Unlikely
¢) Mystery ¢) Despise
d) Vague d) None of the above
52. Legislation 55. Plethora
a) Law a) Less
b) Parliament b) Excess
¢) Both of the above ¢) Deficient
d) None of the above d) All of the above



56. Cajole

a) Threaten

b) Tempt

¢) Both of the above
d) None of the above

57. Germane

a) Improper

b) Unsuitable
¢) Inappropriate
d) Pertinent

Questions 58 - 64, in the following questions, a
word is given followed by four options. Pick the
word having the opposite meaning to the given word:

58. Pernicious

a) Healthy
b) Innocuous
¢) Hygienic
d) Excellent

59. Austerity

a) Extreme
b) Harsh

¢) Lenience
d) Ascetic

60. Grandiose

a) Clumsy
b) Simple
¢) Proud
d) Heavy

61. Gnome

a) Gloom
b) Giant
¢) Casual
d) Small

62. Optimistic

a) Crazy

b) Positivity
¢) Mindless
d) Pessimistic

63. Predator

a) Prey

b) Hunting

c) Shooting

d) None of the above

64. Straight

a) Line

b) Circular

¢) Crooked

d) None of the above

Questions 65- 67, in each of the following questions,
find out the best alternative for the given sentence:

65. A group of islands is called

a) Plateau

b) Gorge

¢) Mountain
d) Archipelago

66. The children were awed to see a __ of lions at the
Z00.

a) Group
b) Number
¢) Pack

d) Pride

67.  is aplace where huge collection of books and
periodicals are found.

a) House

b) Library

¢) Store room

d) None of the above

Questions 68-71, each of the following question
contains four words. One of the four words is
correctly spelt. Pick the correctly spelt word:

68. a) Oppurtunity
b) Opurtunity
¢) Ooprutunity
d) Opportunity

69. a) Recomend
b) Reccomend
¢) Recommend
d) Reccommend

70. a) Accknowledge
b) Acknowledge
¢) Aknowledge
d) Acknolege

71. a) Beginning
b) Begginning
¢) Begining
d) Beggining

Questions 72- 75, replace the underlined part with
correct version.

72. 11laid on the sofa.

a) [ lie

b) I lay

¢) Both of the above
d) No correction



73.

74.

Because I go to bed early, I wake up early.

a) Since [

b) Ever since I

¢) Every day

d) None of the above

Ram is separate from Shyam. Both have different
natures.

a) vary

b) divided

¢) different from

d) None of the above

75. Let me introduce you to my cousin brother.

a) my cousin

b) my brother

¢) Both of the above
d) None of the above



76.

7.

78.

79.

80.

81.

82.

SECTION - III
LEGALAPTITUDE AND LEGAL AWARENESS

Which one of the following rights cannot be inferred 83. Principle: Agreement in restraint of marriage is void

from Article 21 of the Constitution?

a) Right against inhuman treatment

b) Right against delayed death penalty
¢) Right against solitary confinement
d) Right to form associations

Damage is

a) The main remedy in an action for tort

b) The main remedy both in an action for the breach of contract

as well as in an action for tort

¢) To be decided by the court and also that in which category
the case is failing

d) The main remedy in an action for the breach of contract

Which of the following had the most profound
influence in framing the Indian Constitution?

a) British Constitution

b) U.S Constitution

¢) Irish Constitution

d) The Government of India Act, 1935

Which 1s NOT a correct statement

a) Peacekeeping operations are established by the Security
Council.

b) Peacekeepers are identified only by a United Nation's red
helmet.

¢) UN has no military force of its own.

d) Peacekeepers wear their country's uniform.

Which is the largest committee of Parliament in
India?

a) Public Accounts Committee
b) Estimates Committee

¢) Business Committee

d) Expenses Committee

The oath to the President of India is
administered by the

a) Chief Justice of India
b) High Court Judge

¢) Lok Sabha Speaker

d) Prime Minister of India

An agreement with a minor is

a) Enforceable
b) Valid

¢) Void
d)Botha &b

84.

85.

86.

87.

88.

89.

Fact: Ramesh entered into an agreement with Sunil
that he will marry his daughter Sunita with his son
Rahul once they attained the age of majority. After
attaining the majority age Rahul married Meghna.

a) Sunil is liable for breach of contract

b) Rahul is not bound by the term of agreement
c¢) The agreement of marriage is void

d)Bothb & ¢

The Council of Ministers is selected by the

a) President

b) Prime Minister

¢) Speaker of Lok Sabha
d) Chief Justice of India

Releasing a prisoner before completion of his
sentence is

a) Lease
b) Contract
¢) Parole
d) Acquittal

Which of the following offence cannot be
committed in a private place?

a) Affray

b) Rioting

c) Assault

d) None of the above

'mens rea’ means
a) Guilty mind
b) Right to be heard

¢) Mind of a person
d) None of the above

International Environment Day is celebrated on

a) 20" January

b) 5" June

¢) 10" December
d) 26" November

The maxim 'res ipsa loquitur’' means

a) The things do not speak for itself.

b) The things speak for itself.

¢) The things have to be proved beyond reasonable doubt.

d) The burden of proving the things always remains on the
plaintiff.



90.

91.

92.

93.

94.

Contractisan/a

a) Agreement executed by law.

b) Agreement enforceable by law.
c¢) Consideration for agreement.
d) Offer which is accepted.

Entry to a person's land or property without
permission is called

a) Nuisance

b) Trespass

¢) Negligence

d) All of the above

How many Schedules are there in the

97.

98.

99.

Tort is

a) Inflicted against a person
b) Inflicted without consent
c¢) Based on consent

d) Both a and b are correct

A public wrong means

a) A wrong done publicly

b) A wrong done to a family

¢) A wrong done by the public

d) A wrong done to the whole community

The Indian Constitution does NOT follow the model
of the Constitution of

Constitution of India? 123 EI;A
219 ¢) USSR
0 12 d) China
)15
d) 30
100. X tries to pickpocket Y. Y has a loaded pistol in

Nuisance means

a) An offence

his pocket. Unaware of this, X tries to take out the
purse but triggers the gun in the process. X is
guilty of

b) Harmful a) Pickpocketing
¢) Causing inconvenience or annoyance to others b) Murder
¢) Negligence

d) None of the above

d) No offence

Principle: 'Doctrine of Frustration' is when one party 101 The Panchayati Raj system is aimed at

is prevented from, or unable to, carry out his/her
obligations under the contract due to a supervening

event beyond their control.

a) Making villages self sufficient
b) To cater to urban areas
¢) Having democratic decentralization

Facts: Rafael entered into an agreement with Roger to
play a tennis match for a charity to raise money for
children education in Africa, but due to his bad health

d) To spread education in villages

95.

96.

Rafael was not able to take part in the match. 102. The word 'fortum’ means
a) The contract has been breached by Rafael. a) To restore
b) The contract became void. b) To be?t someone
¢) Roger can compel Rafael to perform his obligation. ©) To twist
d) None of the above d) To gather
_ 103. Intention is a

D.K. Basu v/s State of West Bengal is related to _

a) Question of fact
a) Safeguards for Yvomeg employees. b) Question of law
b) Safeguards against child labour. ¢) Mixed question of fact and law
¢) Safeguards against crime of passion. d) None of the above
d) Safeguards for arrested persons.

104. The examination of a witness by the party who

Legal aid for an accused is a

a) Fundamental right

b) Discretion of the State

¢) Not provided under any law
d) Legal right

called him 1is called

a) Examination in chief
b) Cross examination
¢) Reference

d) None of the above



105. 'No one can be convicted for the same offence

106.

107.

twice.' This doctrine is called

a) Burden of proof
b) Double jeopardy
¢) Double conviction
d) caveat emptor

Plea Bargaining is

a) permissible in India

b) illegal in India

c¢) mandatory in India

d) allowed subject to the permission of the court

Conspiracy needs at least  persons.

a)s
b) 8
c) 10
d)2

108.

109.

110.

Andaman and Nicobar Islands come under the
jurisdiction of the

a) Mumbai High Court

b) Delhi High Court

c) West Bengal High Court
d) None of the above

Who is responsible for evolving the concept of
Public Interest Litigation (PIL) in India?

a) Indira Jaisingh
b) Anna Hazare

c¢) Arundhati Roy
d) P.N. Bhagwati

What is sedition?

a) Defaming an eminent personality

b) Insulting the dignity of a woman

c) Attacking a neighboring state

d) Arousing hatred or contempt against the Government of
India



I11.

SECTION IV
ANALYTICAL ABILITIES

Introducing a man to her husband, a woman said,
“His brother's father is the only son of my
grandfather.” How is the woman related to this
man?

a) Mother
b) Aunt

c) Sister

d) Daughter

Questions 112 - 113 :

There are five friends. They are standing in a row facing
south. Jayesh is to the immediate right of Alok. Pramod
is between Bhagat and Subodh. Subodh is between

Jayesh and Pramod.

112. Who is at the extreme left end?

113.

a) Alok

b) Bhagat

¢) Subodh

d) Data inadequate

Who is in the middle?
a) Bhagat

b) Jayesh

¢) Pramod

d) Subodh

Questions 117 - 124 :
Study the information given below and answer the questions that follow:

vk wbh o=

Questions 114- 116 :

In each of the following question there is a relationship
between two given words on either side of : : and one
word is given on a side of : : find the other word from
the given alternatives having the same relation with
this word as the words of the given pair bear.

114.

115.

116.

Dungeon: Confinement :: Asylum : ?

a) Refuge
b) Mercy
¢) Truancy
d) Remorse

Candid : indirect ::honest : ?

a) Frank

b) wicked

¢) truthful
d) untruthful

Give the next sequence of QPO, SRQ, UTS, WVU, ?

a) XVZ
b) ZYA
¢) YXW
d) VWX

Following are the criteria for promotion from Grade D to E in one institute. The employee must:

Be a graduate with minimum 50% of marks.

Not be more than 45 years ofage ason 10.11.1997.

Obtain the minimum prescribed marks in Promotion Test (PT). Minimum marks are Part A-35, Part B-25 and Aggregate as 70.

Has atleast 10 years of service in the institute of which at least four years should be at Grade D.

Nothave any adverse remark in the Confidential Report (C.R).

However, ifa candidate-

Fulfils all other criteria except that at (2) and is less than 50 years, the case may be referred to the Governing Board.

. Fulfils all other criteria but does not have four years of service in Grade D, the case is to be referred to the Director provided the

employee has obtained 120 marks or more as aggregate in the Promotion Test.

Based on the above criteria and the information given in each of the following questions, you have to decide on the promotability of

each case.

117. Kamal Ahuja joined the institute 9 years back in

Grade C. After 2 years, he was promoted to Grade
D with two increments. He got 76% in his
Graduation and was 30 years old as on 10.8.97. He
has no adverse remark in his C.R.

a) To be promoted

b) Not to be promoted

¢) Refer to Director

d) Refer to Governing Board

118.

Archana Sabharwal whose date of birth is 25.8.52,
is a graduate with 51% marks. There is no adverse
remark on her C.R. She has obtained 40 and 30
marks in Part A and B respectively of P.T. She has
served the institute for 15 years and was promoted
to Grade D six years back.

a) Refer to Governing Board
b) Data inadequate

¢) Refer to Director

d) To be promoted



119. 30 years old Rachna Bansal has completed 11 years 124. 32 year old Geeta Madhavan is a Home Science

120.

121.

122.

123.

in the Institute and was promoted to Grade D two
years back. She is a graduate with 65% marks and
has obtained 130 marks in aggregate in P.T. with 80
marks in Part A and 50 marks in Part B. She does
not have any adverse remark on her C.R.

a) Not to be promoted
b) Refer to Director
¢) Data inadequate

d) To be promoted

Arvind Kumar who is in Grade D for the last 5
years is a graduate with 55% marks. He joined the
institute in Grade C and was promoted after 5
years. He was 40 years old as on 28.4.1996 and
does not have any adverse remark on his C.R. He
has obtained 40 and 50 marks in Part A and B
respectively of P.T.

a) Data inadequate

b) To be promoted

¢) Refer to Governing Board
d) Refer to Director

Nitin Sharma obtained 40 and 30 marks in Part A
and Part B of P.T. respectively. He does not have
any adverse remark in his C.R. He has completed

15 years of service out of which 6 years are in
Grade D.

a) To be promoted

b) Not to be promoted
¢) Refer to Director
d) Data inadequate

42 year old Manish Shrivastava, who has put in 20
years of service in the institute, was promoted to
Grade D three years back. He is a Science graduate
with 60% marks and has obtained 80 marks in Part
A and 45 marks in Part B of P.T. and there is no
adverse remark on his C.R.

a) Not to be promoted

b) Refer to Governing Board
c¢) Data inadequate

d) Refer to Director

Mohit Khurana has obtained highest marks among
all the employees in the P.T. aggregate as well as in
each part. He is a graduate with 80% marks. He
was 47 years old as on 6.9.97 and there is no
adverse remark in his C.R. He has completed 10
years of service in Grade D.

a) Refer to Governing Board
b) Refer to Director

¢) Not to be promoted

d) To be promoted

Graduate with 52% marks. She has completed 10
years of service in the institute in Grade D itself.
She has obtained 56% marks in Part A and 75
marks in aggregate of P.T.

a) To be promoted

b) Not to be promoted
¢) Refer to Director
d) Data inadequate

The question given below has a problem and two
statements numbered I and II give certain
information. You have to decide if the information
given in the statements is sufficient to answer the
problem.

125. What day is the fourteenth of a given month?
I. The last day of the month is a Wednesday.
II. The third Saturday of the month was seventeenth.

a) if the data in statement I alone is sufficient to answer the
question

b) if the data in statement II alone is sufficient to answer the
question

c) if the data either in I or IT alone is sufficient to answer the
question

b) if the data given in both the statements together is not
sufficient to answer the question

126. If a light flashes every 6 seconds, how many times

will it flash in % of an hour?

a) 450
b) 451
¢) 350
d) 425

Questions 127 - 131 :

The force of technological change will have an impact
on the manufacturing industry. But the real effect will
be on the information processing industry like software
development, service industries like airlines, insurance
and consulting — both technical and managerial,
designing and executing jobs. Another feature of
technological change by the end of century will be the
resistance to change from within and outside the
organisations. Satisfactory resolutions will require a
high degree of mutual cooperation between Government
and industry, industry and its users, management and
unions and within organisations across functions.

127. The information processing industry has been less
amenable to technological change than the
manufacturing industry.

a) if the answer is definitely true

b) if the answer is probably true

c) if the data provided is inadequate to answer the question
d) if the answer is definitely false



128. The technological change will affect only specific
functions in an organisation leaving the others

undisturbed.

a) if the answer is definitely true
b) if the answer is probably true

c) if the data provided is inadequate to answer the question

d) if the answer is definitely false

129.

change.

a) if the answer is definitely true
b) if the answer is probably true

c) if the data provided is inadequate to answer the question

d) if the answer is definitely false

130. Technological change has already set in.

a) if the answer is definitely true
b) if the answer is probably true

c) if the data provided is inadequate to answer the question

d) if the answer is definitely false

131. People prefer status quo.

a) if the answer is definitely true
b) if the answer is probably true

c) if the data provided is inadequate to answer the question

d) if the answer is definitely false

The following question has a word followed
by four answer choices. Choose the word that is a
necessary part of the given word.

132. Book

a) fiction
b) pages
¢) pictures
d) wisdom

In the following question a pair of words is given,
followed by four pairs of words as alternatives.
Choose the pair in which the words bear the same
relationship to each other as the words of the given
pair bear.

133. Aerie : Eagle

a) capital : government
b) bridge : architect

¢) unit : apartment

d) house : person

As compared to service industry, the manufacturing
industry will be less affected by the technological

134.

A man and his wife appear in an interview for two
vacancies of the same post. The probability of
husband's selection is (1/7) and the probability of
wife's selection is (1/5). What is the probability that
only one of them is selected?

a) 2/7
b) 1/7
¢)3/4
d) 4/5

Questions 135 - 139, read the following
paragraph and answer the questions that follow :

All the six members of a family A,B,C,D,E and F are
travelling together. B is the son of C but C is not the

mother of B. A and C are married. E

1s the

brother of C, D is the daughter of A. F is the brother of

B.

135.

136.

137.

138.

139.

How many male members are there in the family?

a)l
b) 2
c)3
d) 4

Who is the mother of F?

a)D
b) A
c)E
d) Can't be determined

How many children does A have?

a)l
b) 2
c)3
d) 4

Who is the wife of E?

a)A
b)F
c)D
d) Can't be determined

Which of the following is a pair of females?

a) AF
b) D,B
¢)D,A
d)C,D



Questions 140 - 141 :

In each of the following questions, choose the correct
code form.

140.

141.

142.

143.

144.

145.

146.

In a certain code, MEN is written as ABC and
DARK is written as LSTZ. How can READ be
written in this code?

a) TCSL
b) TBSL
¢) TASL
d) TLSL

In a code language MOBILE is written as
ASDFGH, STORK is written as PLSQW. How is
MOTORBIKE written in that code?

a) ASLSQDFWH
b) ASLSQDHWH
¢) ASLSGHQDW
d) ASLSASFWH

A child went 90 m in the East to look for his father,
and then he turned right and went 20 m. After this
he turned right and after going 30 m he reached to
his uncle's house. His father was not there. From
there he went 100 m to north and met his father.
How far was he from the starting point when he

met his father ?

a) 80 m

b) 100 m
c) 140 m
d) 260 m

Choose the number which is different from the
given alternatives.

a) 275
b) 183
¢) 242
d) 119

Choose the odd pair of words.

a) Aphid — Paper
b) Termite - Wood
¢) Moth - Wool

d) Locust — Plant

Choose the odd pair of words.

a) China — Beijing
b) Russia — Moscow
¢) Spain — Madrid
d) Japan — Ottawa

Choose the odd pair.

a) Bottle — Wine
b) Ball — Bat

¢) Cup — Tea

d) Pitcher — Water

Questions 147 - 148 :

One term in the number series is wrong. Find the
wrong one.

147.  2,3,5,8, 13,20, 34

a) 8

b) 13
)20
d) 34

148. 196, 169, 144, 121, 100, 80

a) 144
b) 121
¢) 100
d) 80

Questions 149 - 150 :

In each of the following question, there is a relationship

between two given words on either side of

and one word is given on a side of : : find the
other word from the given alternatives having the same
relation with this word as the words of the given pair

bear.

149. Handsome : Beautiful : : Husband : ?

a) Women
b) Wife

¢) Girl

d) She

150. Parrot : Cage : : Man : ?

a) Home
b) Motor Car
¢) Prison
d) Forest
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